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In the equation above, what is the value of x ?
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The graph above shows the distance traveled d, '\

in feet, by a product on a conveyor belt m minutes
after the product is placed on the belt. Which of the
following equations correctly relates d and m ?

2m
1

B) d=—m
2

C) d=m+2
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The formula below is often used by project managers
to compute E, the estimated time to complete a job,
where O is the shortest completion time, P is the
longest completion time, and M is the most likely

completion time.
O+4M+P 2 F J—

E=
Which of the follow[mg correctly gn(crms of
E,O,and M ?
@P:(»E—O—-Ml GE- O + LLM _\‘ F

B) P=-6E+0O+4M
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In the ﬁgure ab(;\'e, I;T = TU. What is (1 = 33

the value of x 7
A) 72
B)

D) 58 0\'&%
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The width of a rectangular dance floor is w feet. The
length of the floor is 6 feet longer than its width.
Which of the following expresses the perimeter, in

feet, of the dance floor in terms of w ? ?_
A) 2w+6 w + b - ‘M HL

) JAw + 12 =

C) w’+6 \/\l

D) w’+6w W
— _J

@1 — Yt1r2x>h
O: L )

Which of the following consists of the y-coordinates J/

of all the points that satisfy the system of inequalities
above?

A) y>6

%H >5
0 y>3 %><f
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(‘H)(%—l)
J2x+6 +4=x+3 ~x \X—X-k'\
What is the SOIUIZ set of the equation above? 2

m)=(x“l>
zxﬂ, X ﬂ -k

C) {-1,5}
D) {0,-1,5}
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